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Time: 10 Minutes Paper Math 4 Total Marks: 10
5th Month, 1st Week, 1st Day [Syllabus: Unit 5: Exercise — 1 Complete
Q.No.1 Encircle the correct answer from the following choices. o)
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i. The length of a pencil will be measured in .
KUt A
@ |M A oy |om K7 @ [pm mes| @ |km 2E
ii. 12Km= m. K =xEn
(a) 120 (b) 1200 (c) 12000 @ 1.2
iii. 88 m= cm. K= = #88

(a) 880 (b) 8.8 © 8800 @) [None 3

iv. 3.2cm= mm.

(a) 320 (b) 32 © 3200 @) [None 3
- :q-algd/‘fl g,JJ/u’

(a) Km D) Mm © Cm d Dm

v. The length of a long road is measured in

Q.No.1. Convert there units of length: o)
Pad 6By 1Ay
AR EET8460
2930 428 56

(i) 60 m 78 cm into mm

(ii) 56 km 930 m to m
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